
[ ALFA TECH PARTS LIST - 2013 ]

ROTARY KIT
* Seal Kits are also available upon your request

10L P/P-CYB-A NV137 SINGLE CYL.BLOCK & W/V PLATE

10L P/P-CYB CYLINDER BLOCK

10L P/P-PTS PISTON SHOE SET(9PCS/SET)

10L P/P-SFT SINGLE SHAFT

10L P/P-SWP SWASH PLATE

10L P/P-VLP VALVE PLATE

2PV105-CYB CYLINDER BLOCK

2PV105-PTR PISTON RING

2PV105-PTS PISTON SHOE SET(7PCS/SET)

2PV105-PTS PLUNGER (7PCS/SET)

2PV105-STP SET PLATE

2PV105-VLP-LH VALVE PLATE LH

2PV105-VLP-RH VALVE PLATE RH

2PV35-CYB CYLINDER BLOCK

2PV35-PTR PISTON RING

2PV35-PTS PISTON SHOE SET(7PCS/SET)

2PV35-PTS PLUNGER (7PCS/SET)

2PV35-STP SET PLATE

2PV35-VLP-L VALVE PLATE LH

2PV35-VLP-R VALVE PLATE RH

2PV50-CYB CYLINDER BLOCK

2PV50-PTR PISTON RING

2PV50-PTS PISTON SHOE SET(7PCS/SET)

2PV50-PTS PLUNGER (7PCS/SET)

2PV50-STP SET PLATE

2PV50-VLP-LH VALVE PLATE LH

2PV50-VLP-RH VALVE PLATE RH

2PV75-CYB CYLINDER BLOCK (SLEEVE TYPE)

2PV75-PTR PISTON RING

2PV75-PTS PISTON SHOE SET(7PCS/SET)

2PV75-PTS PLUNGER (7PCS/SET)

2PV75-STP SET PLATE

MODEL APPLICATION MODEL DESCRIPTION



2PV75-VLP VALVE PLATE

90L075-CYB CYLINDER BLOCK

90L075-PTS PISTON SHOE SET(9PCS/SET)

90L075-STP SET PLATE

A10V028-CYB CYLINDER BLOCK

A10V028-PIN PIN

A10V028-PTS PISTON SHOE SET(9PCS/SET)

A10V028-STP-A SET PLATE & BALL GUIDE

A10V028-VLP-LH VALVE PLATE LH

A10V028-VLP-RH VALVE PLATE RH

A10V028-SWP-L YOUKE LH

A10V028-SWP-R YOUKE RH

A10V40-CBA-L CYL.BLOCK & W/V PLATE LH

A10V40-CBA-R CYL.BLOCK & W/V PLATE RH

A10V40-CYB CYLINDER BLOCK

A10V40-PTS A10V40/43/43-2/45 PISTON SHOE SET(9PCS/SET)

A10V40-STB-A SET PLATE & BALL GUIDE

A10V40-SHP SHOE PLATE

A10V40-VLP-LH VALVE PLATE LH

A10V40-VLP-RH VALVE PLATE RH

A10V43-BLG BALL GUIDE

A10V43-CBA-L CYL.BLOCK & W/V PLATE LH

A10V43-CBA-R CYL.BLOCK & W/V PLATE RH

A10V43-CYB CYLINDER BLOCK

A10V43-PTS PISTON SHOE SET(9PCS/SET)

A10V43-STP SET PLATE 

A10V43-STB-A SET PLATE & BALL GUIDE

A10V43-SHP SHOE PLATE

A10V43-VLP-LH VALVE PLATE LH

A10V43-VLP-RH VALVE PLATE RH

A10VD43-BLG A10V43-2 BALL GUIDE

A10VD43-CYB-LH CYL.BLOCK & W/V PLATE LH

A10VD43-CYB-RH CYL.BLOCK & W/V PLATE RH

A10VD43-CYB CYLINDER BLOCK

A10VD43-PIN PIN (3PCS/SET)

A10VD43-PTS PISTON SHOE SET(9PCS/SET)

A10VD43-STP SET PLATE

A10VD43-STB-A SET PLATE & BALL GUIDE



A10VD43-SHP SHOE PLATE

A10VD43-VLP-F-INDIA VALVE PLATE FRONT(INDIA)

A10VD43-VLP-F-BIG VALVE PLATE FRONT

A10VD43-VLP-R-INDIA VALVE PLATE REAR(INDIA)

A10VD43-VLP-R-SMALL VALVE PLATE REAR

CONTROL PISTON ASSY BIG

CONTROL PISTON ASSY SMALL

A10V63-VLP VALVE PLATE

A10V71-CYB A10VSO71 CYLINDER BLOCK

A10V71-PTS PISTON SHOE SET(9PCS/SET)

A10V71-PIN PIN (3PCS/SET)

A10V71-STB-A SET PLATE & BALL GUIDE

A10V71-STP SET PLATE

A10V71-VLP-LH VALVE PLATE LH

A10V71-VLP-RH A10VSO71 VALVE PLATE RH

A10V45-CYB CYLINDER BLOCK

A10V45-PTS PISTON SHOE SET(9PCS/SET)

A10V45-STB-A SET PLATE & BALL GUIDE

A10V45-SHP SHOE PLATE

A10V45-VLP-LH VALVE PLATE LH

A10V45-VLP-RH VALVE PLATE RH

A10V63 VALVE PLATE

A10VD17-BLG BALL GUIDE

A10VD17-CYB CYLINDER BLOCK

A10VD17-PTS PISTON SHOE SET(9PCS/SET)

A10VD17-STP SET PLATE

A10VD17-STB-A SET PLATE & BALL GUIDE

A10VD17-SHP SHOE PLATE

A10VD17-VLP-L VALVE PLATE LH

A10VD17-VLP-R VALVE PLATE RH

A2FO23-PTS PLUNGER WITH 2RING

A2FO23-PTS PISTON SHOE SET WITH 2 RING

A2FO23-C.PTS CENTER PISTON

A2FO23-SFT DRIVE SHAFT

A2FO23-STP SET PLATE

A2FO23-CYB CYLINDER BLOCK

A2FO23-VLP VALVE PLATE



A4V71EL-CBA CYL.BLOCK & W/V PLATE

A4V71EL-PTS PISTON SHOE SET(9PCS/SET)

A4V71EL-STB-A SET PLATE & BALL GUIDE

A4V71EL-VLP VALVE PLATE

A4V125-PTS PISTON SHOE SET(9PCS/SET)

A4VG125-BLG BALL GUIDE

A4VG125-CBA CYL.BLOCK & W/V PLATE 

A4VG125-PTS PISTON SHOE SET(9PCS/SET)

A4VG125-STP SET PLATE

A4VG125-VLP VALVE PLATE

A4VG180-PTS PISTON SHOE SET(9PCS/SET)

A4VG180-STP SET PLATE

A4VG180-CBA CYL.BLOCK & W/V PLATE 

A6V160-PTR PISTON RING

A8VO107-CYB-L-CAT CYL.BLOCK & W/V PLATE LH

A8VO107-CYB-R-CAT CYL.BLOCK & W/V PLATE RH

A8VO107-CYB-CAT CYLINDER BLOCK(CAT)

A8VO107-CYB-CAT CYLINDER BLOCK(CAT)

A8VO107-SFT DRIVE SHAFT

A8V107-CBA-L-CAT CYL.BLOCK & W/V PLATE LH

A8V107-CBA-L-SUM CYL.BLOCK & W/V PLATE LH

A8V107-CBA-R-CAT CYL.BLOCK & W/V PLATE RH

A8V107-CBA-R-SUM CYL.BLOCK & W/V PLATE RH

A8V107-CYB CYLINDER BLOCK

A8V107-CYB CYLINDER BLOCK

A8V107-CSFT CENTER SHAFT

A8V107-PTR PISTON RING

A8V107-PTR PISTON RING

A8V107-PTS PISTON SHOE

A8V107-PTS PISTON SHOE

A8V107-PTS-2R PISTON SHOE SET WITH 2 RING

A8V107-PTS PISTON SHOE SET(7PCS/SET)

A8V107-PTS-2R PISTON SHOE WITH 2ING

A8V107-PTS-2R PISTON SHOE WITH 2ING

A8V107-VLP-L-CAT VALVE PLATE LH (CAT)

A8V107-VLP-L-CAT VALVE PLATE LH (CAT)



A8V107-VLP-L-SUM VALVE PLATE LH (SUM)

A8V107-VLP-L-SUM VALVE PLATE LH (SUM)

A8V107-VLP-R-CAT VALVE PLATE RH (CAT)

A8V107-VLP-R-CAT VALVE PLATE RH (CAT)

A8V107-VLP-R-SUM VALVE PLATE RH (SUM)

A8V107-VLP-R-SUM VALVE PLATE RH (SUM)

A8V172-VLP-L VALVE PLATE LH

A8V172-VLP-R VALVE PLATE RH

A8VO160-C.PIN CENTER PISTON

A8VO160-C.PIN CENTER PISTON

A8VO160-CYB-LH CYL.BLOCK & W/V PLATE LH

A8VO160-CYB-RH CYL.BLOCK & W/V PLATE RH

A8VO160-CYB CYLINDER BLOCK

A8VO160-CYB CYLINDER BLOCK

A8VO160-SFT-R DRIVE SHAFT FRONT

A8VO160-SFT-R DRIVE SHAFT FRONT

A8VO160-SFT-L DRIVE SHAFT REAR

A8VO160-SFT-L DRIVE SHAFT REAR

A8VO160-HDC HEAD COVER

A8VO160-HDC-A HEAD COVER ASSY

A8VO160-PTS PISTON SHOE SET WITH 2 RING

A8VO160-PTS PISTON SHOE SET

A8VO160-PCS PLUNGER

A8VO160-PCS PLUNGER

A8VO160-PTS-2R PISTON SHOE 2RING

A8VO160-PTS-2R PISTON SHOE 2RING

A8VO160-PTR PISTON RING

A8VO160-PTR PISTON RING

A8VO160-VLP-L VALVE PLATE LH

A8VO160-VLP-R VALVE PLATE RH

A8VO200-PTS PISTON SHOE

A8VO200-RING PISTON RING

A8VO200-CYB CYLINDER BLOCK

A8VO200-C.PST CENTER PISTON

A8VO200-VLP-L VALVE PLATE LH

A8VO200-LVP-R VALVE PLATE RH

A8V055SR-CYB CYLINDER BLOCK

A8V55-CBA-L CYL.BLOCK & W/V PLATE LH



A8V55-CBA-R CYL.BLOCK & W/V PLATE RH

A8V55-CYB CYLINDER BLOCK

A8V55-CYB CYLINDER BLOCK

A8V55-CSFT CENTER SHAFT

A8V55-CSFT CENTER SHAFT

A8V55-HDC HEAD COVER

A8V55-PTR PISTON RING

A8V55-PTR PISTON RING

A8V55-PTS PISTON SHOE

A8V55-PTS PISTON SHOE

A8V55-PTS PISTON SHOE SET(7PCS/SET)

A8V55-PTS-2R PISTON SHOE WITH 2ING

A8V55-PTS-2R PISTON SHOE WITH 2ING

A8V55-PTS-2R PISTON SHOE SET WITH 2RING

A8V55-VLP-L VALVE PLATE LH

A8V55-VLP-L VALVE PLATE LH

A8V55-VLP-R VALVE PLATE RH

A8V55-VLP-R VALVE PLATE RH

A8V55 SRIR-CBA-L CYL.BLOCK & W/V PLATE LH

A8V55 SRIR-CBA-R CYL.BLOCK & W/V PLATE RH

A8V55 SRIR-CYB CYLINDER BLOCK

A8V55 SRIR-CYB CYLINDER BLOCK

A8V55 SRIR-CSFT CENTER PIN

A8V55 SRIR-HDC HEAD COVER

A8V55 SRIR-PTR PLUNGER

A8V55 SRIR-PTR PLUNGER

A8V55 SRIR-PTR PISTON SHOE SET(7PCS/SET)

A8V55 SRIR-SFT-L DRIVE SHAFT LH

A8V55 SRIR-SFT-R DRIVE SHAFT RH

A8V55 SRIR-VLP-L VALVE PLATE LH

A8V55 SRIR-VLP-L VALVE PLATE LH

A8V55 SRIR-VLP-R VALVE PLATE RH

A8V55 SRIR-VLP-R VALVE PLATE RH

A8V80-CSFT HYDROMATIC80 CENTER PIN

A8V80-CSFT HYDROMATIC80 CENTER PIN

A8V80-CYB CYLINDER BLOCK

A8V80-CYB CYLINDER BLOCK

A8V80-PTR PISTON RING

A8V80-PTR PISTON RING

A8V80-PTS PISTON SHOE

A8V80-PTS PISTON SHOE



A8V80-PTS-2R PISTON SHOE SET WITH 2RING

A8V80-PTS-2R PISTON SHOE WITH 2RING

A8V80-PTS-2R PISTON SHOE WITH 2RING

A8V80-PTS PISTON SHOE SET(7PCS/SET)

A8V80-VLP VALVE PLATE LH

A8V80-VLP VALVE PLATE LH

A8V80-VLP VALVE PLATE RH

A8V80-VLP VALVE PLATE RH

A8V86-PCS PISTON SHOE WITH RING

A8V86-PTS-R PISTON SHOE SET WITH RING

A8V86-CYB CYLINDER BLOCK

A8V86-SFT-L DRIVE SHAFT LH

A8V86-SFT-R DRIVE SHAFT RH

A8V86-C.PIN CENTER PISTON

A8V86-VLP VALVE PLATE LH

A8V86-VLP VALVE PLATE RH

AP2D25-STB-A BALL GUIDE

AP2D25-CYB CYLINDER BLOCK

AP2D25-SFT DRIVE SHAFT

AP2D25-PIN PIN (3PCS/SET)

AP2D25-PTS PISTON SHOE SET(10PCS/SET)

AP2D25-STP SET PLATE

AP2D25-SHP SHOE PLATE

AP2D25-SPR SPRING(CYB)

AP2D25-S.SEAT SPRING SEAT (2PCS/SET)

AP2D25-VLP VALVE PLATE

AP2D36-CYB CYLINDER BLOCK

AP2D36-PIN PIN (3PCS/SET)

AP2D36-PTS PISTON SHOE SET(10PCS/SET)

AP2D36-STP-A SET PLATE & BALL GUIDE

AP2D36-SHP SHOE PLATE

AP2D36-VLP VALVE PLATE

AP5S53-CYB CYLINDER BLOCK

AP5S53-PTS PISTON SHOE SET

AP5S53-STP SET PLATE 

AP5S53-BLG K3SP36 BALL GUIDE

AP5S53-STB-A SET PLATE & BALL GUIDE

AP5S53-SFT SHAFT

AP5S53-SHP SHOE PLATE



AP5S53-VLP VALVE PLATE

BPV200-CYB CYLINDER BLOCK

BPV200-PTS PISTON SHOE SET(9PCS/SET)

BPV200-PRD PUSH ROD

BPV200-STP SET PLATE

BPV200-SNR SNAP RING

BPV200-SPR SPRING

BPV200-SPRING SEAL SPRING SEAT

BPV200-VLP VALVE PLATE

CAT12G-CYB CYLINDER BLOCK(BARREL ASSY)

CAT12G-PTS PISTON SHOE SET(9PCS/SET)

CAT12G-STP SET PLATE(RETRACTION PLATE)

CAT12G-SHP SHOE PLATE(THRUST)

CAT12G-VLP VALVE PLATE(BEARING)

CAT140G/160G-STP SET PLATE

CAT140H-PTS PISTON SHOE SET(9PCS/SET)

CAT14G-CYB CYLINDER BLOCK(BARREL ASSY)

CAT14G-PTS PISTON SHOE SET(9PCS/SET)

CAT14G-VLP PORT PLATE(BEARING P/L)

CAT14G-STP SET PLATE(RETRACTION PLATE)

CAT14G-SHP THRUST PLATE(SHOE P/L)

CAT320-BLG BALL GUIDE

CAT320-CBA-R CYL.BLOCK & W/V PLATE LH

CAT320-CBA-F CYL.BLOCK & W/V PLATE RH

CAT320-CYB CYLINDER BLOCK

CAT320-PTS PISTON SHOE SET(9PCS/SET)

CAT320-STP SET PLATE

CAT320-STB-A SET PLATE & BALL GUIDE

CAT320-SFT-F SHAFT FRONT

CAT320-SFT-R SHAFT REAR

CAT320-SHP SHOE PLATE

CAT320-VLP-L VALVE PLATE LH

CAT320-VLP-R VALVE PLATE RH

CAT320-C-SHP SHOE PLATE

CAT320-C-VLP-L VALVE PLATE LH

CAT320-C-VLP-R VALVE PLATE RH



CAT350L-SFT DRIVE SHAFT 17TH

CAT350L-SWP-A SWASH PLATE & SUPPORT

CAT350L-SWP-L SWASH PLATE ASSY LH(COATING)

CAT350L-SWP-R SWASH PLATE ASSY RH(COATING)

DNB50-CYB-A CYL.BLOCK & W/V PLATE

DNB50-CYB CYLINDER BLOCK

DNB50-PTS PISTON SHOE SET(9PCS/SET)

DNB50-STB-A SET PLATE & BALL GUIDE

DNB50-SWP SWASH PLATE

DNB08 CYLINDER BLOCK

DNB08 PIN (3PCS/SET)

DNB08 PISTON SHOE SET

DNB08 SET PLATE & BALL GUIDE

DNB08 VALVE PLATE

E200B-M/P-AXL AXLE SHAFT

E200B-M/P-SFT-R DRIVE SHAFT RH

DRIVE SHAFT LH

E200B-M/P-CYB DRUM

E200B-M/P-CYB-INCH DRUM (INCH SIZE)

E200B-M/P-DMS DRUM SEAL (9PCS/SET)

DRUM SEAL NEW

E200B-M/P-PTS-INCH PISTON SHOE (INCH SIZE)

E200B-M/P-PTS PISTON SHOE SET(9PCS/SET)

E200B-M/P-BRP-L PORT PLATE LH

E200B-M/P-BRP-R PORT PLATE RH

E200B-M/P-BLG RETAINER BALL

E200B-M/P-STP RETAINER(SET PLATE)

E200B-M/P-STR RETAINER(STEEL)

E200B-M/P-STB-A SET PLATE & BALL GUIDE

E200B-M/P-SHP SHOE PLATE

E200B-M/P-SPC SPACER 

E200B-M/P-VLP VALVE PLATE(BEARING PLATE)

SPK10/10-BLG(NEW) BALL GUIDE

SPK10/10-CYB-A(NEW) CYL.BLOCK & W/V PLATE LH

SPK10/10-CYB-A(NEW) CYL.BLOCK & W/V PLATE LH

SPK10/10-CYB-A(NEW) CYL.BLOCK & W/V PLATE RH

SPK10/10-CYB-A(NEW) CYL.BLOCK & W/V PLATE RH

SPK10/10-CYB NEW CYLINDER BLOCK



SPK10/10-SPC(NEW) SPACER

SPK10/10-SPR(NEW) SPRING

SPK10/10-VLP(NEW) VALVE PLATE LH

SPK10/10-VLP(NEW) VALVE PLATE LH

SPK10/10-VLP(NEW) VALVE PLATE RH

SPK10/10-VLP(NEW) VALVE PLATE RH

E300-AXL AXLE SHAFT

EATON-72400-BLG BALL GUIDE

EATON-72400-CYB CYLINDER BLOCK

EATON-72400-PTS PISTON SHOE SET(9PCS/SET)

EATON-72400-STP SET PLATE

EATON-72400-VLP-M VALVE PLATE MOTOR

EATON-72400-VLP-R VALVE PLATE RH

EATON-72400-WSH WASHER

EM105 BALL GUIDE SEAT

EM105 CYLINDER BLOCK

EM105 PISTON SHOE SET(9PCS/SET)

EM105 SET PLATE & BALL GUIDE

EM105 SWASH BALL

EM105 SWASH PLATE

EM105 VALVE PLATE

EM105 SPACER

EPE-03-SHP SHOE PLATE

EPE-04-VLP VALVE PLATE

EX100-2-M/M-VLP VALVE PLATE

EX100-S/M-CBA CYL.BLOCK & W/V PLATE

EX100-S/M-CYB CYLINDER BLOCK

EX100-S/M-PTS PISTON SHOE SET(9PCS/SET)

EX100-S/M-STB-A SET PLAET & BALL GUIDE

EX100-S/M-SHP SHOE PLATE

EX100-S/M-VLP VALVE PLATE

EX100-T/M-C.SFT CENTER SHAFT

EX100-T/M-CYB CYLINDER BLOCK

EX100-T/M-SFT DRIVE SHAFT

EX100-T/M-PTS PISTON SHOE SET(7PCS/SET)

EX100-T/M-PTS PLUNGER (7PCS)



EX100-T/M-VLP VALVE PLATE

EX200 ROTARY KIT BEARING (30212)

EX200 ROTARY KIT BEARING (30212D)

EX200 ROTARY KIT BEARING SPACER

EX200 ROTARY KIT FINE U-NET

EX200 ROTARY KIT OIL SEAL (AP3055F3)

EX200 ROTARY KIT O-RING (G130)

EX200 ROTARY KIT O-RING (P26)

EX200 ROTARY KIT O-RING (P39)

EX200 ROTARY KIT PLATE-A

EX200 ROTARY KIT PLATE-B

EX200 REGULATOR REGULATOR ASS'Y

EX200 ROTARY KIT SEAL COVER

EX200 ROTARY KIT SHAFT SPACER

EX200 ROTARY KIT SNAP RING (R130)

EX200 ROTARY KIT SPRING

EX200-1-T/M-SFT DRIVE SHAFT

EX200-1-T/M-VLP VALVE PLATE

EX200-2-C.SFT CENTER SHAFT

EX200-2-D.SFT-RH DRIVE SHAFT FRONT

EX200-2-D.SFT-LH DRIVE SHAFT REAR

EX200-2-HDC HEAD COVER DW

EX200-2-PTS PISTON SHOE SET(7PCS/SET)

EX200-2-PTS PLUNGER (7PCS)

EX200-2-CYB ROTOR

EX200-2-VLP VALVE PLATE DOUBLE

EX200-2-T/M-VLP VALVE PLATE SINGLE

EX200-CAS PUMP CASING

EX200-SERVO-PTS SERVO PISTON

EX400-PIN CENTER PIN

EX400-PIN CENTER PIN

EX400-CYB CYLINDER BLOCK

EX400-CYB CYLINDER BLOCK

EX400-PTR PISTON RING

EX400-PTR PISTON RING

EX400-PTS PLUNGER (7PCS/SET)



EX400-PTS PLUNGER (7PCS/SET)

EX400-PTS PISTON SHOE SET

EX400-PTS PISTON SHOE SET WITH RING

EX400-VLP VALVE PLATE

EX400-VLP VALVE PLATE

EX60-2/3-S/M-CYB CYLINDER BLOCK

EX60-2/3-S/M-PTS PISTON SHOE SET(9PCS/SET)

EX60-2/3-S/M-STB-A SET PLATE & BALL GUIDE

EX60-2/3-S/M-VLP VALVE PLATE

FLIAT ALIS F85-CLIP CLIP

FLIAT ALIS F85-CYB CYLINDER BLOCK

FLIAT ALIS F85-PTS PISTON SHOE SET(9PCS/SET)

FLIAT ALIS F85-PRD PUSH ROD(3PCS/SET)

FLIAT ALIS F85-STB-A SET PLATE & BALL GUIDE

GM15-PTS PISTON SHOE SET(9PCS/SET)

GM30F-PTS PISTON SHOE SET(9PCS/SET)

GM30H-BLG BALL GUIDE

GM30H-CYB CYLINDER BLOCK

GM30H-PTS PISTON SHOE SET(9PCS/SET)

GM30H-STP-A SET PLATE & BALL GUIDE

GM30H-STP SET PLATE (RETAINER)

GM30H-SWP SWASH PLATE

GM30H-VLP VALVE PLATE

GM35V-PTS PISTON SHOE SET(9PCS/SET)

CYLINDER BLOCK

GM18VL2-CYB CYLINDER BLOCK

GM18VL2-PTS PISTON SHOE SET(9PCS/SET)

GM18VL2-STP-A SET PLATE & BALL GUIDE

GM18VL2-VLP VALVE PLATE

GM35VL-CYB CYLINDER BLOCK

GM35VL-PTS PISTON SHOE SET(9PCS/SET)

GM35VL-STP SET PLATE

GM35VL-BLG BALL GUIDE

GM35VL-STP-A SET PLATE & BALL GUIDE

GM35VL-VLP VALVE PLATE



GS50-VLP VALVE PLATE

H45-VLP VALVE PLATE

H45-CYB CYLINDER BLOCK

H45-BUSH BUSH

HMT107CF-DSFT DRIVE SHAFT

HMT107CF-VLP VALVE PLATE

HMT134CF-DSFT DRIVE SHAFT

HMT134-VLP VALVE PLATE

HMV116CF-CLP CRADLE PLATE

HMV116CF-DSFT DRIVE SHAFT

HMV116CF-VLP VALVE PLATE

HMV145-CLP CRADLE PLATE

HMV145-VLP VALVE PLATE

HPR100-CYB CYLINDER BLOCK

HPR100-MTB METAL BUSH (2PCS/SET)

HPR100-PCS PISTON SHOE

HPR100-PTS PISTON SHOE SET(9PCS/SET)

HPR100-STB-A SET PLATE & BALL GUIDE

HPR100-SWP-L SWASH PALTE (SUPPORT)

HPR100-SWP SWASH PLATE

HPR100-VLP-LH VALVE PLATE LH

HPR100-VLP-RH VALVE PLATE RH

HPR130-CBA CYL.BLOCK & W/V PLATE

HPR130-CBA CYL.BLOCK & W/V PLATE RH

HPR130-MTB METAL BUSH (2PCS/SET)

HPR130-PTS PISTON SHOE SET(9PCS/SET)

HPR130-STB-A SET PLATE & BALL GUIDE

HPR130-SFT SHAFT

HPR130-SWP-L SWASH PALTE (SUPPORT)

HPR130-SWP-N SWASH PLATE(NEW TYPE)

HPR130-SWP-U SWASH PLATE(OLD TYPE)

HPR130-VLP VALVE PLATE (RH)

HPR160-CBA-LH CYL.BLOCK & W/V PLATE LH

HPR160-CBA-RH CYL.BLOCK & W/V PLATE RH



HPR160-PTS PISTON SHOE SET(9PCS/SET)

HPR160-STB-A SET PLATE & BALL GUIDE

HPR160-VLP-RH VALVE PLATE LH

HPR160-VLP-RH VALVE PLATE RH

HPV050-CSFT CENTER PIN

HPV050-CYB CYLINDER BLOCK

HPV050-PTS PISTON SHOE SET(7PCS/SET)

HPV050-PCS PLUNGER

HPV050-SFT-L SHAFT LONG

HPV050-SFT-S SHAFT SHORT

HPV050-VLP-L VALVE PLATE LH

HPV050-VLP-R VALVE PLATE RH

HPV091EW HEAD COVER. EW

HPV091ES/DS HEAD COVER

HPV102-CSFT CENTER SHAFT

HPV102-CYB CYLINDER BLOCK

HPV102-DSC DRIVE DISC

HPV102-HDC HEAD COVER

HPV102-HDC HEAD COVER

HPV102-IDSC IDLER DISC

HPV102-PTS PISTON SHOE SET(7PCS/SET)

HPV102-PTS PISTON(7PCS/SET)

HPV102-SPTS SERVO PISTON

HPV102-VLP-L VALVE PLATE LH

HPV102-VLP-R VALVE PLATE RH

HPV118 PISTON SHOE(7PCS/SET)

HPV118 VALVE  PLATE LH

HPV118 VALVE PLATE RH

HPV118 CYLINDER BLOCK

HPV118 DRIVE SHAFT

HPV118 IDLER SHAFT

HPV118 CENTER SHAFT

HPV118 HEAD COVER

SPOOL

HPV125-HDV HEAD VALVE

HPV125-PTS PISTON SHOE SET(9PCS/SET)

HPV125-PTS PLUNGER (9PCS/SET)



HPV125-CYB ROTOR

HPV135-CSFT CENTER SHAFT

HPV135-SFT DRIVE SHAFT

HPV135-HDV-A HEAD ASSY

HPV135-HDC HEAD COVER

HPV135-S.PIN PIN

HPV135-PTS PISTON SHOE SET(7PCS/SET)

HPV135-PTS PLUNGER (7PCS/SET)

HPV135-CYB ROTOR

HPV135-SPL SPOOL(SERVO PISTON)

HPV135-VLP VALVE PLATE

HPV145-CSFT CENTER SHAFT

HPV145-SFT DISC DRIVE

HPV145-HDV-A HEAD ASSY

HPV145-HDC HEAD COVER

HPV145-PTS PISTON SHOE SET(7PCS/SET)

HPV145-PTS PLUNGER (7PCS)

HPV145-CYB ROTOR

HPV145-VLP VALVE PLATE

HPV145-SERVO-PTS SERVO PISTON(SPOOL)

HPV145F CENTER SHAFT

HPV145F DRIVE SHAFT

HPV145F HEAD COVER

HTM450D-CYB CYLINDER BLOCK

HTM450D-HDC HEAD COVER

HTM450D-PTS PISTON SHOE SET(13PCS/SET)

HTM450D-STP SET PLATE

HTM450D-SHO SHOE (13PCS/SET)

HTM450D-VLP VALVE PLATE

HTM450D-SWP SWASH PLATE

K3SP36-SPR COIL SPRING

K3SP36-SPR COIL SPRING

K3SP36-CBA CYL.BLOCK & W/V PLATE

K3SP36-CBA CYL.BLOCK & W/V PLATE

K3SP36-VLP VALVE PLATE

K3SP36-PTS PISTON SHOE SET(10PCS/SET)

K3SP36-PTS PISTON SHOE SET(10PCS/SET)



K3SP36-STB-A SET PLATE & BALL GUIDE

K3SP36-STB-A SET PLATE & BALL GUIDE

K3SP36-SFT SHAFT

K3SP36-B.BALL SWASH BALL(BIG)

K3SP36-B.BALL SWASH BALL(BIG)

K3SP36-S.BALL SWASH BALL(SMALL)

K3SP36-S.BALL SWASH BALL(SMALL)

K3SP36-SWP SWASH PLATE

K3SP36-SWP SWASH PLATE

K3SP36-SWP-2B SWASH PLATE WITH 2BALL

K3V112BDT-SWP SWASH PLATE & SUPPORT

K3V112DT-BLG BALL GUIDE

K3V112DT-CBA-L CYL.BLOCK & W/V PLATE LH

K3V112DT-CBA-L CYL.BLOCK & W/V PLATE LH

K3V112DT-CBA-L-NV CYL.BLOCK & W/V PLATE LH(NV TYPE)

K3V112DT-CBA-L-NV CYL.BLOCK & W/V PLATE LH(NV TYPE)

K3V112DT-CBA-L-SL CYL.BLOCK & W/V PLATE LH(SLEEVE)

K3V112DT-CBA-L-H CYL.BLOCK & W/V PLATE LH(HEAT)

K3V112DT-CBA-R CYL.BLOCK & W/V PLATE RH

K3V112DT-CBA-R CYL.BLOCK & W/V PLATE RH

K3V112DT-CBA-R-NV CYL.BLOCK & W/V PLATE RH(NV TYPE)

K3V112DT-CBA-R-NV CYL.BLOCK & W/V PLATE RH(NV TYPE)

K3V112DT-CBA-R-SL CYL.BLOCK & W/V PLATE RH(SLEEVE)

K3V112DT-CBA-R-H CYL.BLOCK & W/V PLATE RH(HEAT)

K3V112DT-CYB CYLINDER BLOCK NV

K3V112DT-PTS PISTON SHOE SET(SCM645)

K3V112DT-PTS PISTON SHOE SET(SCM645)

K3V112DT-PTS PISTON SHOE SET(SCM415)

K3V112DT-PTS PISTON SHOE SET(SCM415)

K3V112DT-SPR COIL SPRING(9PCS/SET)

K3V112DT-SFT-R SAHFT REAR

K3V112DT-SFT-R SAHFT REAR (12TH)

K3V112DT-STP SET PLATE

K3V112DT-STB-A SET PLATE & BALL GUIDE

K3V112DT-STB-A SET PLATE & BALL GUIDE

K3V112DT-STB-A SET PLATE & BALL GUIDE

K3V112DT-SFT-F SHAFT FRONT

K3V112DT-SHP SHOE PLATE

K3V112DT-SHP SHOE PLATE

K3V112DT-SHP SHOE PLATE

K3V112DT-SPC SPACER



K3V112DT-SWP SWASH PLATE & SUPPORT

K3V112DT-SWP SWASH PLATE ASSY NEW

K3V112DT-SWP SWASH PLATE & SUPPORT

K3V112DT-BUSH SWASH PLATE BUSH

K3V112DT-VLP-L VALVE PLATE LH

K3V112DT-VLP-R VALVE PLATE RH

K3V140DT-BLG BALL GUIDE

K3V140DT-CBA-L CYL.BLOCK & W/V PLATE LH

K3V140DT-CBA-L CYL.BLOCK & W/V PLATE LH

K3V140DT-CBA-L-S CYL.BLOCK & W/V PLATE LH(SLEEVE)

K3V140DT-CBA-L-S CYL.BLOCK & W/V PLATE LH(SLEEVE)

K3V140DT-CBA-R CYL.BLOCK & W/V PLATE RH

K3V140DT-CBA-R CYL.BLOCK & W/V PLATE RH

K3V140DT-CBA-R-S CYL.BLOCK & W/V PLATE RH(SLEEVE)

K3V140DT-CBA-R-S CYL.BLOCK & W/V PLATE RH(SLEEVE)

K3V140DT-PTS PISTON SHOE SET(9PCS/SET)

K3V140DT-PTS PISTON SHOE SET(9PCS/SET)

K3V140DT-SPR COIL SPRING(9PCS/SET)

K3V140DT-STP SET PLATE

K3V140DT-STB-A SET PLATE & BALL GUIDE

K3V140DT-STB-A SET PLATE & BALL GUIDE

K3V140DT-SFT-F SHAFT FRONT

K3V140DT-SFT-R SHAFT REAR

K3V140DT-SFT-R SHAFT REAR 12TH

K3V140DT-SHP SHOE PLATE

K3V140DT-SPC SPACER

K3V140DT-SWP SWASH PLATE & SUPPORT

K3V140DT-SWP SWASH PLATE ASSY(NEW)

K3V140DT-VLP-L VALVE PLATE LH

K3V140DT-VLP-R VALVE PLATE RH

K3V180DT-SPR COIL SPRING(9PCS/SET)

K3V180DT-CBA-L CYL.BLOCK & W/V PLATE LH

K3V180DT-CBA-L CYL.BLOCK & W/V PLATE LH

K3V180DT-CBA-R CYL.BLOCK & W/V PLATE RH

K3V180DT-CBA-R CYL.BLOCK & W/V PLATE RH

K3V180DT-PTS PISTON SHOE SET(9PCS/SET)

K3V180DT-PTS PISTON SHOE SET(9PCS/SET)

K3V180DT-PTS-HIGH PISTON SHOE SET(HIGH PRESSURE)

K3V180DT-SFT-F SHAFT FRONT 

K3V180DT-SFT-F SHAFT FRONT 17TH



K3V180DT-SFT-R SHAFT REAR 12TH

K3V180DT-SFT-R SHAFT REAR 13TH

K3V180DT-SPC SPACER

K3V180DT-VLP-L VALVE PLATE LH

K3V180DT-VLP-R VALVE PLATE RH

K3V180DTH SHAFT FRONT 17TH

K3V180DTH SHAFT FRONT 15TH

K3V180DTH SHAFT REAR 12TH

K3V180DTH SHAFT REAR 13TH

K3V280DT-SPR BLOCK SPRING(9PCS/SET)

K3V280DT-CBA-L CYL.BLOCK & W/V PLATE LH

K3V280DT-CBA-R CYL.BLOCK & W/V PLATE RH

K3V280DT-PTS PISTON SHOE SET

K3V280DT-STB-A SET PLATE & BALL GUIDE

K3V280DT-SHP SHOE PLATE

K3V280DT-SPC SPACER

K3V280DT-SWP SWASH PLATE ASS'Y

K3V63BDT-SWP SWASH PLATE & SUPPORT

K3V63DT-BLG BALL GUIDE

K3V63DT-CBA-L CYL.BLOCK & W/V PLATE LH

K3V63DT-CBA-L CYL.BLOCK & W/V PLATE LH

K3V63DT-CBA-R CYL.BLOCK & W/V PLATE RH

K3V63DT-CBA-R CYL.BLOCK & W/V PLATE RH

K3V63DT-PTS PISTON SHOE SET(9PCS/SET)

K3V63DT-PTS PISTON SHOE SET(9PCS/SET)

K3V63DT-STP SET PLATE

K3V63DT-STB-A SET PLATE & BALL GUIDE

K3V63DT-STB-A SET PLATE & BALL GUIDE

K3V63DT-SFT-F SHAFT FRONT

K3V63DT-SFT-R SHAFT REAR

K3V63DT-SFT-R SHAFT REAR 12TH

K3V63DT-SFT-R SHAFT REAR (KEY-CAT TYPE)

K3V63DT-SHP SHOE PLATE

K3V63DT-SHP SHOE PLATE

K3V63DT-SPC SPACER

K3V63DT-SPR SPRING(9PCS/SET)

K3V63DT-SWP SWASH PLATE ASSY

K3V63DT-SWP SWASH PLATE ASSY(NEW)

K3V63DT-VLP-L VALVE PLATE LH



K3V63DT-VLP-L VALVE PLATE LH

K3V63DT-VLP-R VALVE PLATE RH

K3V63DT-VLP-L VALVE PLATE RH

K5V80DT-PTS PISTON SHOE SET

K5V80DT-PTS PISTON SHOE SET

K5V80DT-STB-A SET PLATE & BALL GUIDE

K5V80DT-STB-A SET PLATE & BALL GUIDE

K5V140DT-CYB-L CYL.BLOCK & W/V PLATE LH

K5V140DT-CYB-R CYL.BLOCK & W/V PLATE RH

K5V140DT-SPR COIL SPRING

K5V140DT-PTS PISTON SHOE SET

K5V140DT-STB-A SET PLATE & BALL GUIDE

K5V140DT-STP SET PLATE

K5V140DT-BLG BALL GUIDE

K5V140DT-SFT-R SHAFT FRONT

K5V140DT-SFT-L SHAFT REAR

K5V140DT-SHP SHOE PLATE

K5V140DT-SWP SWASH PLATE ASS'Y

K5V140DT-SWP SWASH PLATE ASS'Y

K907-Ⅱ-T/M-CYB CYLINDER BLOCK

K907-Ⅱ-T/M-PTS PISTON SHOE SET(9PCS/SET)

K907-Ⅱ-T/M-STB-A SET PLATE & BALL GUIDE

K907-Ⅱ-T/M-VLP VALVE PLATE

KVC925-AXL 07-3 P/P_KVC925 AXLE (2PCS/SET)

KVC925-BSH BUSHING (2PCS/SET)

KVC925-CYB CYLINDER BLOCK

KVC925-SFT DRIVE SHAFT

KVC925-GUP GUIDE PIECE

KVC925-PTS PISTON SHOE SET(9PCS/SET)

KVC925-STP SET PLATE

KVC925-SHP SHOE PLATE

KVC925-SWA SWASH PLATE ASSY

KVC925-SWP SWASH PLATE BODY

KVC925-VLP VALVE PLATE

KVC930-PTS PISTON SHOE SET(9PCS/SET)

KVC932-CYB UH16 CYLINDER BLOCK

KVC932-PCS PISTON SHOE



KVC932-PTS PISTON SHOE SET(9PCS/SET)

KVC932-STP SET PLATE

KVC932-SHP SHOE PLATE

KVC932-VLP VALVE PLATE

L150 PISTON SHOE SET(9PCS/SET)

LPVD64-BLG BALL GUIDE

LPVD64-CBA-LH CYL.BLOCK & W/V PLATE LH

LPVD64-CBA-RH CYL.BLOCK & W/V PLATE RH

LPVD64-CYB CYLINDER BLOCK

LPVD64-PTS PISTON SHOE SET(9PCS/SET)

LPVD64-STP SET PLATE

LPVD64-SHP SHOE PLATE

LPVD64-SPR SPRING

LPVD64-VLP-LH VALVE PLATE LH

LPVD64-VLP-RH VALVE PLATE RH

LPVD125 PISTON SHOE SET

LPVD125 CYL.BLOCK & W/V PLATE

LPVD125 SET PLATE & BALL GUIDE

LPVD125 WASHER

M2X120-BLG BALL GUIDE

M2X120-CYB CYLINDER BLOCK 

M2X120-PTS PISTON SHOE SET(9PCS/SET)

M2X120-PRD PUSH ROD(12PCS/SET)

M2X120-STP SET PLATE

M2X120-STB-A SET PLATE & BALL GUIDE

M2X120-SFT SHAFT

M2X120-SHP SHOE PLATE 

M2X120-SPC SPACER

M2X120-VLP VALVE PLATE

M2X146-BLG BALL GUIDE

M2X146-CYB CYLINDER BLOCK

M2X146-PTS PISTON SHOE SET(9PCS/SET)

M2X146-PRD PUSH ROD (12PCS/SET)

M2X146-STP SET PLATE

M2X146-STB-A SET PLATE & BALL GUIDE

M2X146-SFT SHAFT

M2X146-SHP SHOE PLATE

M2X146-VLP VALVE PLATE



M2X146-WSH SPRING SEAT

M2X146-WSH WASHER

M2X170-BLG 280S/W_M2X170 BALL GUIDE

M2X170-CYB CYLINDER BLOCK

M2X170-PRD PIN (12PCS/SET)

M2X170-PTS PISTON SHOE SET(9PCS/SET)

M2X170-STP SET PLATE 

M2X170-STB-A SET PLATE & BALL GUIDE

M2X170-SFT SHAFT

M2X170-SHP SHOE PLATE

M2X170-SPC SPACER

M2X170-VLP VALVE PLATE

M2X170-WSH WASHER (BALL GUIDE)

M2X170-WSH WASHER (CYB) 2PCS/SET

M2X210-BLG BALL GUIDE

M2X210-CYB CYLINDER BLOCK

M2X210-PIN PIN (12PCS/SET)

M2X210-PTS PISTON SHOE SET(9PCS/SET)

M2X210-STP SET PLATE 

M2X210-STB-A SET PLATE & BALL GUIDE

M2X210-SFT SHAFT

M2X210-SHP SHOE PLATE

M2X210-VLP VALVE PLATE

M2X210-VLP-B VALVE PLATE (B)

M2X210-WSH WASHER (DISC SPRING)

M2X22-CYB CYLINDER BLOCK

M2X22-VLP VALVE PLATE

M2X22-PTS PISTON SHOE SET

M2X22-STB-A SET PLATE & BALL GUIDE

M2X55-CYB CYLINDER BLOCK

M2X55-PTS PISTON SHOE SET(9PCS/SET)

M2X55-PRD PUSH ROD(12PCS/SET)

M2X55-STB-A SET PLATE & BALL GUIDE

M2X55-SHP SHOE PLATE

M2X55-VLP VALVE PLATE

M2X63-CYB CYLINDER BLOCK

M2X63-VLP VALVE PLATE

M2X63-SPC SPACER



M2X96-BLG BALL GUIDE

M2X96-CYB CYLINDER BLOCK

M2X96-PTS PISTON SHOE SET(9PCS/SET)

M2X96-PRD PUSH ROD

M2X96-STP SET PLATE

M2X96-STB-A SET PLATE & BALL GUIDE

M2X96-SHP SHOE PLATE

M2X96-SPC SPACER

M2X96-VLP VALVE PLATE

M5X130-CYB CYLINDER BLOCK

M5X130-CYB CYLINDER BLOCK

M5X130-PTS PISTON SHOE SET

M5X130-SHP SHOE PLATE

M5X130-SHP SHOE PLATE

M5X130-STP SET PLATE

M5X130-STP SPRING OF SET PLATE

M5X130-VLP VALVE PLATE

M5X130-VLP VALVE PLATE

M5X130-SFT SHAFT

M5X180-CYB CYLINDER BLOCK

M5X180-PTS PISTON SHOE SET

M5X180-STP SET PLATE

M5X180-STP SPRING OF SET PLATE

M5X180-SHP SHOE PLATE

M5X180-VLP VALVE PLATE

M46-CYB CYLINDER BLOCK

M46-CYB CYLINDER BLOCK

M46-PTS PISTON SHOE SET(7PCS/SET)

M46-PTS PISTON SHOE SET(7PCS/SET)

M46-STB-A SET PLATE & BALL GUIDE

M46-STB-A SET PLATE & BALL GUIDE

M46-VLP-M VALVE PLATE MOTOR

M46-VLP-M VALVE PLATE MOTOR

M46-VLP-L VALVE PLATE LH

M46-VLP-L VALVE PLATE LH

M46-VLP-R VALVE PLATE RH

M46-VLP-R VALVE PLATE RH

M46-PRD PUSH ROD

M46-GRIP GRIP



MAG150-CYB CYLINDER BLOCK

MAG150-PTS PISTON SHOE SET(9PCS/SET)

MAG150-STP SET PLATE

MAG150-STB-A SET PLATE & BALL GUIDE

MAG150-SWP SWASH PLATE

MAG150-VLP VALVE PLATE

MFB160-PTS PISTON SHOE SET(9PCS/SET)

MFB160-STP SET PLATE

MFB160-VLP VALVE PLATE

MFB160-VLP CUP SPRING

MFB160-CYB CYLINDER BLOCK

MFB80-S/M-PTS PISTON SHOE SET(9PCS/SET)

MFB80-S/M-STP SET PLATE

MFB80-S/M-CUP CUP SPRING

MFB80-S/M-CYB CYLINDER BLOCK

MS110-8-VLP-F-123-8.5 VALVE PLATE FRONT

MS110-8-VLP-R-123 VALVE PLATE FRONT

MS110-8-VLP-F-119 VALVE PLATE REAR

MS110-8-VLP-R-119-8.5 VALVE PLATE REAR

MS160-M/P-PTS PISTON SHOE SET (7PCS)

MS180-3N-M/P-BLG BALL RETAINER

MS180-3N-M/P-CYB DRUM

MS180-3N-M/P-DMS DRUM SEAL (9PCS/SET)

MS180-3N-M/P-CYB(10mm) DRUM(10mm)

MS180-3N-GVP-BIG GOVERNOR (BIG)

MS180-3N-GVP-SMALL GOVERNOR (SMALL)

MS180-3N-M/P-SHP INDEX PLATE

MS180-3N-M/P-PCS PISTON SHOE

MS180-3N-M/P-PTS PISTON SHOE SET(9PCS/SET)

MS180-3N-M/P-BRP-L PORT PLATE LH

MS180-3N-M/P-BRP-R PORT PLATE RH

MS180-3N-M/P-STP RETAINER

MS180-3N-M/P-STP-A SET PLATE & BALL GUIDE

MS180-3N-M/P-SFT-L SHAFT LH

MS180-3N-M/P-SFT-R SHAFT RH

MS180-3N-M/P-VLP VALVE PLATE



MS180-3O-M/P-BLG BALL RETAINER

MS180-3O-M/P-CYB CYLINDER BLOCK

MS180-3O-M/P-SHP INDEX PLATE

MS180-3O-M/P-PTS PISTON SHOE SET(7PCS/SET)

MS180-3O-M/P-BRP PORT PLATE(BEARING PLATE OLD)

MS180-3O-M/P-STP RETAINER

MS180-3O-M/P-STP-A SET PLATE & BALL GUIDE

MS180-8-S/M-CBA CYL.BLOCK & W/V PLATE

MS180-8-S/M-PTS PISTON SHOE SET(9PCS/SET)

MS180-8-S/M-STB-A SET PLATE & BALL GUIDE

MS180-8 S/M-SFT SHAFT

MS180-8-S/M-SHP SHOE PLATE

MS180-M/P-BLG MS180_MS230 BALL RETAINER

MS180-M/P-CYB DP105 CYLINDER BLOCK

MS180-M/P-SHP INDEX PLATE

MS180-M/P-PTS PISTON SHOE SET(7PCS/SET)

MS180-M/P-BRP PORT PLATE

MS180-M/P-STP RETAINER

MS230-M/P-CYB CYLINDER BLOCK(SLEEVE)

MS300-8-SWP SWASH PLATE(OIL HOLE OPPOSITE)

MS450-8-SWP SWASH PLATE

MSF270-CBA CYL.BLOCK & W/V PLATE

MSF270-PTS PISTON SHOE SET(9PCS/SET)

MSF270-STB-A SET PLATE & BALL GUIDE

MSF-59 CYL.BLOCK & W/V PLATE

MSF-59 PISTON SHOE SET

MSF-59 SET PLATE & BALL GUIDE

MSF-59 SHOE PLATE

MSF-59 WASHER

MX03-PTS PISTON SHOE SET(9PCS/SET)

MX03-STB-A SET PLATE & BALL GUIDE

MX03-VLP VALVE PLATE

MX173-CBA MX173 CYL.BLOCK & W/V PLATE

MX173-CYB CYLINDER BLOCK



MX173-SFT DRIVE SHAFT

MX173-PTS PISTON SHOE SET(9PCS/SET)

MX173-STB-A SET PLATE & BALL GUIDE

MX173-STP SET PLATE

MX173-BLG BALL GUIDE

MX173-SHP SHOE PLATE

MX173-VLP VALVE PLATE

MX80-CBA CYL.BLOCK & W/V PLATE

MX80-VLP VALVE PLATE

MX80-PTS PISTON SHOE SET

MX80-STB-A SET PLATE & BALL GUIDE

NV111DT-BLG BALL GUIDE

NV111DT-CBA-L CYL.BLOCK & W/V PLATE LH

NV111DT-CBA-R CYL.BLOCK & W/V PLATE RH

NV111DT-SPR DISC SPRING

NV111DT-STP SET PLATE

NV111DT-STB-A SET PLATE & BALL GUIDE

NV111DT-SFT-F SHAFT (FRONT)

NV111DT-SFT-R SHAFT (REAR) 12TH

NV111DT-SFT-R SHAFT (REAR) 13TH

NV111DT-SWP SWASH PLATE

NV111DT-VLP-L VALVE PLATE LH

NV111DT-VLP-R VALVE PLATE RH

NV137-CBA CYL.BLOCK & W/VALVE PLATE

NV137-PTS PISTON SHOE SET(9PCS/SET)

NV137DT-BLG BALL GUIDE

NV137DT-CBA-L CYL.BLOCK & W/V PLATE LH

NV137DT-CBA-R CYL.BLOCK & W/V PLATE RH

NV137DT-PTS PISTON SHOE SET(9PCS/SET)

NV137DT-STP SET PLATE

NV137DT-STB-A SET PLATE & BALL GUIDE

NV137DT-SFT-R(12T) SHAFT LH 12T

NV137DT-SFT-R(13T) SHAFT LH 13T

NV137DT-SFT-F SHAFT RH

NV137DT-SWP SWASH PLATE

NV137DT-VLP-L VALVE PLATE LH

NV137DT-VLP-R VALVE PLATE RH

NV172DT-CBA-L CYL.BLOCK & W/V PLATE LH



NV172DT-CBA-R CYL.BLOCK & W/V PLATE RH

NV172DT-PTS PISTON SHOE SET(9PCS/SET)

NV172DT-VLP-L VALVE PLATE LH

NV172DT-VLP-R VALVE PLATE RH

NV270-CBA CYL.BLOCK & W/V PLATE LH

NV270-SPR DISC SPRING

NV270-PCS PISTON

NV270-PTS PISTON SHOE SET (9PCS)

NV270-STB SET PLATE

NV270-STB-A SET PLATE & BALL GUIDE

NV270-SFT SHAFT

NV270-SWP SWASH PLATE

NV270-VLP-L VALVE PLATE LH

NV64DT-CBA-L NV64DT_04S CYL.BLOCK & W/V PLATE LH

NV64DT-CBA-R CYL.BLOCK & W/V PLATE RH

NV64DT-PTS PISTON SHOE SET(9PCS/SET)

NV64DT-STB-A SET PLATE & BALL GUIDE

NV64DT-SWP SWASH PLATE

NV70DT-PTS PISTON SHOE SET(9PCS/SET)

NV80DT-PTS PISTON SHOE SET(9PCS/SET)

NV84DT-CBA-L CYL.BLOCK & W/V PLATE LH

NV84DT-CBA-R CYL.BLOCK & W/V PLATE RH

NV84DT-MTB METAL BUSHING

NV84DT-PTS PISTON SHOE SET(9PCS/SET)

NV84DT-STB-A SET PLATE & BALL GUIDE

NV84DT-SWP-OLD SWASH PLATE

NV84DT-SWP-NEW SWASH PLATE NEW

NV84DT-SWP-OLD SWASH PLATE OLD WITH 2 METAL

NV84DT-SWP-OLD SWASH PLATE OLD(WITHOUT METAL)

NV84DT-VLP-L VALVE PLATE LH

NV84DT-VLP-R VALVE PLATE RH

NVK45DT-CBA-L CYL.BLOCK & W/V PLATE LH

NVK45DT-CBA-R CYL.BLOCK & W/V PLATE RH

NVK45DT-CYB CYLINDER BLOCK

NVK45DT-PTS PISTON SHOE SET(9PCS/SET)

NVK45DT-PIN PUSH ROD(6PCS/SET)

NVK45DT-STB-A SET PLATE & BALL GUIDE



NVK45DT-BLG BALL GUIDE

NVK45DT-STP SET PLATE

NVK45DT-SFT SHAFT

NVK45DT-SHP SHOE PLATE

NVK45DT-VLP-L VALVE PLATE LH

NVK45DT-VLP-R VALVE PLATE RH

P6P-BRP BEARING PLATE

P6P-PTS PISTON SHOE SET(7PCS/SET)

P6P-STP SET PLATE

P6P-SHP SHOE PLATE

P6P-VLP VALVE PLATE

PC120-3/5-M/P-SUP-L CRADLE LH

PC120-3/5-M/P-SUP-R CRADLE RH

PC120-3/5-M/P-CBA-L CYL.BLOCK & W/V PLATE LH

PC120-3/5-M/P-CBA-R CYL.BLOCK & W/V PLATE RH

PC120-3/5-M/P-CYB CYLINDER BLOCK

PC120-3/5-M/P-PTS PISTON SHOE SET(9PCS/SET)

PC120-3/5-M/P-STP RETAINER (SET PLATE)

PC120-3/5-M/P-SWP SWASH PLATE

PC120-3/5-M/P-VLP-L VALVE PLATE LH

PC120-3/5-M/P-VLP-R VALVE PLATE RH

PC200-2-M/P-CYB CYLINDER BLOCK

PC200-2-M/P-PTS PISTON (7PCS/SET)

PC200-2-M/P-PTS PISTON SHOE SET(7PCS/SET)

PC200-2-M/P-STP SET PLATE

PC200-2-M/P-VLP VALVE PLATE

PC200-2-T/M-CYB CYLINDER BLOCK

PC200-2-T/M-PTS PISTON (7PCS/SET)

PC200-2-T/M-PTS PISTON SHOE SET(7PCS/SET)

PC200-2-T/M-STP SET PLATE

PC200-2-T/M-VLP-42740 VALVE PLATE 10T

PC200-2-T/M-VLP-40841 VALVE PLATE 14T

PC200-3-M/P-CMR CAM ROCKER (SWASH)

PC200-3-M/P-CBA-L CYL.BLOCK & W/V PLATE LH

PC200-3-M/P-CBA-R CYL.BLOCK & W/V PLATE RH

PC200-3-M/P-CYB CYLINDER BLOCK

PC200-3-M/P-SFT-L DRIVE SHAFT LH

PC200-3-M/P-SFT-R DRIVE SHAFT RH



PC200-3-M/P-PTS PISTON SHOE SET(9PCS/SET)

PC200-3-M/P-STP RETAINER SHOE

PC200-3-M/P-SUP-FF SUPPORT (FRONT)

PC200-3-M/P-SUP-RR SUPPORT (REAR)

PC200-3-M/P-VLP-L VALVE PLATE LH

PC200-3-M/P-VLP-R VALVE PLATE RH

PC200-5-M/P-CBA-L CYL.BLOCK & W/V PLATE LH

PC200-5-M/P-CBA-R CYL.BLOCK & W/V PLATE RH

PC200-5-M/P-SFT-R SHAFT LH

PC200-5-M/P-SFT-F SHAFT RH

PC200-5-M/P-VLP-L VALVE PLATE LH

PC200-5-M/P-VLP-R VALVE PLATE RH

PC200-6-BLG BALL GUIDE

PC200-6-CBA-L CYL.BLOCK & W/V PLATE LH

PC200-6-CBA-L CYL.BLOCK & W/V PLATE LH

PC200-6-CBA-R CYL.BLOCK & W/V PLATE RH

PC200-6-CBA-R CYL.BLOCK & W/V PLATE RH

PC200-6-PTS PISTON SHOE SET(9PCS/SET)

PC200-6-PTS PISTON SHOE SET(9PCS/SET)

PC200-6-STP SET PLATE

PC200-6-STB-A SET PLATE & BALL GUIDE

PC200-6-STB-A SET PLATE & BALL GUIDE

PC200-6-SUP(NEW) SUPPORT NEW

PC200-6-SUP(OLD) SUPPORT OLD

PC200-6-SWP(OLD) SWASH PLATE (OLD TYPE)

PC200-6-SWP(OLD) SWASH PLATE (OLD TYPE)

PC200-6-SWP(NEW) SWASH PLATE (NEW TYPE)

PC200-6-SWP(NEW) SWASH PLATE (NEW TYPE)

PC200-6-SWP-A(OLD) SWASH PLATE ASSY (OLD TYPE)

PC200-6-SWP SWASH PLATE ASSY

PC200-6-VLP-LH VALVE PLATE LH

PC200-6-VLP-RH VAVLE PLATE RH

PC200-7-CBA-L CYL.BLOCK & W/V PLATE LH

PC200-7-CBA-R CYL.BLOCK & W/V PLATE RH

PC200-7-PIN PIN

PC200-7-VLP-L VALVE PLATE LH

PC200-7-VLP-R VALVE PLATE RH

PC200-7-STP SET PLATE

PC200-7-STB-A SET PLATE & BALL GUIDE

PC200-7-SWP SWASH PLATE (NEW)



PC200-7-SWP-A SWASH PLATE ASSY(NEW)

PC300/400-COLLAR COLLAR

PC300/400-SWP SWASH PLATE

PC300-3-M/P-CBA-L CYL.BLOCK & W/V PLATE LH

PC300-3-M/P-CBA-R CYL.BLOCK & W/V PLATE RH

PC300-3/5-CYB CYLINDER BLOCK

PC300-3/5-M/P-PTS PISTON SHOE SET(9PCS/SET)

PC300-3/5-M/P-STP RETAINER SHOE

PC300-3-VLP-L VALVE PLATE LH

PC300-3-VLP-R VALVE PLATE RH

PC300-5-M/P-CBA-L CYL.BLOCK & W/V PLATE LH

PC300-5-M/P-CBA-R CYL.BLOCK & W/V PLATE RH

PC300-5-M/P-SFT-L SHAFT LH

PC300-5-M/P-SFT-R SHAFT RH

PC300-5-M/P-SUP SUPPORT LH

PC300-5-M/P-SUP SUPPORT RH

PC300-5-M/P-SWP SWASH PLATE

PC300-5-VLP-L VALVE PLATE LH

PC300-5-VLP-R VALVE PLATE RH

PC300-6-CYB-LH CYL.BLOCK & W/V PLATE LH

PC300-6-CYB-RH CYL.BLOCK & W/V PLATE RH

PC300-6-CYB CYLINDER BLOCK

PC300-6-VLP-L VALVE PLATE LH

PC300-6-VLP-R VALVE PLATE RH

PC300-6-PTS PISTON SHOE SET(9PCS/SET)

PC300-6-STB-A SET PLATE & BALL GUIDE

PC300-6-STB SET PLATE

PC300-6-BLG BALL GUIDE

PC300-6-SWP-A SWASH PLATE ASSY

PC300-7-CYB-LH CYL.BLOCK & W/V PLATE LH

PC300-7-CYB-RH CYL.BLOCK & W/V PLATE RH

PC300-7-PTS PISTON SHOE SET(9PCS/SET)

PC300-7-STB-A SET PLATE & BALL GUIDE

PC300-7-SWP-A SWASH PLATE ASSY

PC300-7-SWP-A SWASH PLATE ASSY

PC60-5-CBA-L CYL.BLOCK & W/V PLATE LH

PC60-5-CBA-R CYL.BLOCK & W/V PLATE RH



PC60-5-CYB CYLINDER BLOCK

PC60-5-PTS PISTON SHOE SET(9PCS/SET)

PC60-5-STP RETAINER SHOE (SET PLATE)

PC60-5-SUP-L SUPPORT LH

PC60-5-SUP-R SUPPORT RH

PC60-5-SWP SWASH PLATE

PC60-5-VLP-L VALVE PLATE LH

PC60-5-VLP-R VALVE PLATE RH

PC71 PISTON SHOE SET

PC71 SET PLATE & BALL GUIDE

PC71 VALVE PLATE RH

PC71 CAM ROCKER

PC71 CRADLE

PC71 CYL.BLOCK & W/V PLATE RH

PC71 PUSH ROD

PSV2-55T-BLG BALL GUIDE

PSV2-55T-CBA-L CYL.BLOCK & W/V PLATE LH

PSV2-55T-CBA-R CYL.BLOCK & W/V PLATE RH

PSV2-55T-CYB CYLINDER BLOCK

PSV2-55T-PTS PISTON SHOE SET(9PCS/SET)

PSV2-55T-STP RETAINER PLATE

PSV2-55T-STP-A SET PLATE & BALL GUIDE

PSV2-55T-SHIM SHIM

PSV2-55T-VLP-L VALVE PLATE LH

PSV2-55T-VLP-R VALVE PLATE RH

PSV2-60T-BLG BALL GUIDE

PSV2-60T-CBA-L CYL.BLOCK & W/V PLATE LH

PSV2-60T-CBA-R CYL.BLOCK & W/V PLATE RH

PSV2-60T-CYB CYLINDER BLOCK

PSV2-60T-PTS PISTON SHOE SET(9PCS/SET)

PSV2-60T-STP RETAINER PLATE

PSV2-60T-STB-A SET PLATE & BALL GUIDE

PSV2-60T-SHIM SHIM

PSV2-60T-VLP-L VALVE PLATE LH

PSV2-60T-VLP-R VALVE PLATE RH

PSV2-63-CBA-L CYL.BLOCK & W/V PLATE LH

PSV2-63-CBA-R CYL.BLOCK & W/V PLATE RH

PSV2-63-PTS PISTON SHOE SET(9PCS/SET)

PSV2-63-STB-A SET PLATE & BALL GUIDE



PSVD2-21 PISTON SHOE SET(10PCS)

PSVD2-21 SET PLATE & BALL GUIDE

PSVD2-21 CYLINDER BLOCK

PSVD2-21 VALVE PLATE

PSVD2-21 PIN

PSVK2-25 PISTON SHOE SET

PSVK2-25 SET PLATE & BALL GUIDE

PSVK2-25 CYLINDER BLOCK

PSVK2-25 VALVE PLATE LH

PSVK2-25 VALVE PLATE RH

PSVK2-25 PIN

PV16A/MF16A PISTON SHOE SET

PV16A/MF16A SET PLATE

PV16A/MF16A CYLINDER BLOCK

PV16A/MF16A VALVE PLATE LH

PV16A/MF16A VALVE PLATE RH

PV16A/MF16A VALVE PLATE MOTOR

PV16A/MF16A SHOE PLATE

PV119-CYB CYLINDER BLOCK

PV119-SHP THRUST PLATE

PV119-VLP-L VALVE PLATE LH

PV119-VLP-R VALVE PLATE RH

PVA656SL-PTS PISTON SHOE SET(9PCS/SET)

PVA656SL-CYB CYLINDER BLOCK

PVD21-BLG BALL GUIDE

PVD21-BRP BEARING PLATE

PVD21-SPR BLOCK SPRING

PVD21-CYB CYLINDER BLOCK

PVD21-PTS PISTON SHOE SET(9PCS/SET)

PVD21-STP SET PLATE

PVD21-SFT SHAFT

PVD21-SHP SHOE PLATE

PVD21-VLP-L VALVE PLATE LH

PVD21-VLP-R VALVE PLATE RH

PVD22-BLG BALL RETAINER

PVD22-BRP BEARING PLATE



PVD22-CYB CYLINDER BLOCK

PVD22-SHP INDEX PLATE

PVD22-MCS MECHANICAL SEAL

PVD22-PTS PISTON SHOE SET(9PCS/SET)

PVD22-STP SET PLATE

PVD22-SFT-LH SHAFT LH

PVD22-SFT-RH SHAFT RH

PVD22-VLP-L-8.5 VALVE PLATE LH (8.5) CW

PVD22-VLP-L-117 VALVE PLATE LH CW

PVD22-VLP-R-8.5 VALVE PLATE RH (8.5) CCW

PVD22-VLP-R-444 VALVE PLATE RH CCW

PVD2B-32L-CYB CYLINDER BLOCK

PVD2B-32L-BSH METAL BUSHING (2PCS/SET)

PVD2B-32L-PTS PISTON SHOE SET(10PCS/SET)

PVD2B-32L(AX30)-STB-A SET PLATE & BALL GUIDE

PVD2B-32L-SWP SWASH PLATE

PVD2B-32L-VLP VALVE  PLATE

PVD2B-36L-CYB CYLINDER BLOCK

PVD2B-36L(AX30Ⅱ)-BSH METAL BUSHING (2PCS/SET)

PVD2B-36L-PTS PISTON SHOE SET(10PCS/SET)

PVD2B-36L(AX30Ⅱ)-STB-A SET PLATE & BALL GUIDE

PVD2B-36L-SWP SWASH PLATE

PVD2B-36L-VLP VALVE  PLATE

PVD2B-42L(EX40)-CYB CYLINDER BLOCK

PVD2B-42L(EX40)-PTS PISTON SHOE SET(10PCS/SET)

PVD2B-42L(EX40)-STB-A SET PLATE & BALL GUIDE

PVD2B-42L(EX40)-VLP VALVE PLATE

PVD3B-54P-SPR COIL SPRING

PVD3B-54P-CYB CYL.BLOCK & W/V PLATE

PVD3B-54P-PTS PISTON SHOE SET(10PCS/SET)

PVD3B-54P-PRT PORT PLATE

PVD3B-54P-STP-A SET PLATE & BALL GUIDE

PVD3B-54P-SFT SHAFT

PVD3B-54P-SPC SPACER

PVD3B-54P-SWP SWASH PLATE

PVD3B-60L-CYB CYLINDER BLOCK

PVD3B-60L-PTS PISTON SHOE SET(10PCS/SET)

PVD3B-60L-STB-A SET PLATE & BALL GUIDE



PVD3B-60L-VLP VALVE PLATE

METAL 

PVH131 CYLINDER BLOCK

PVH131 PISTON SHOE SET(9PCS/SET)

PVH131 SET PLATE

PVH131 VALVE PLATE

SK07Ⅱ-T/M-CYB CYLINDER BLOCK

SK07Ⅱ-T/M-PTS PISTON SHOE SET(9PCS/SET)

SK07Ⅱ-T/M-STP RETAINER

SK07N2-CYB CYLINDER BLOCK

SK07N2-PTS PISTON SHOE SET(9PCS/SET)

SK07N2-STB-A SET PLATE & BALL GUIDE

SK07N2-VLP VALVE PLATE

SK200-3-T/M CYLINDER BLOCK

SK200-3-T/M-PTS PISTON SHOE SET(9PCS/SET)

SK200-3-T/M-STB-A SET PLATE & BALL GUIDE

SK200-3-T/M SWASH PLATE

SK200-3-T/M VALVE PLATE

M15-PTS PISTON SHOE SET(9PCS/SET)

M18-CYB S/D18/SPV18 CYLINDER BLOCK

M18-PTS PISTON SHOE SET(9PCS/SET)

M18-STP SET PLATE

M18-VLP VALVE PLATE (BI-METAL)

M20-BLG S/D20/SPV20 BALL GUIDE

M20-BRP BEARING PLATE

M20-BRP-O BEARING PLATE OLD

M20-CYB CYLINDER BLOCK

M20-PTS PISTON SHOE SET(9PCS/SET)

M20-STP SET PLATE

M20-SHP SHOE PLATE

M20-VLP-L VALVE PLATE LH

M20-VLP-M VALVE PLATE (MOTOR)

M20-VLP-R VALVE PLATE RH

M21-BLG SPV21 BALL GUIDE

M21-BRP-H/P-BRASS BEARING PLATE HIGH PRESURE (BRASS)



M21-BRP BEARING PLATE(NEW)

M21-BRP-H/P-OLD BEARING PLATE(OLD) HIGH PRESURE

M21-SPR BLOCK SPRING(COIL)

M21-CYB CYLINDER BLOCK

M21-PTS PISTON SHOE SET(9PCS/SET)

M21-STP SET PLATE

M21-SFT-21T SHAFT 21TH

M21-SFT-14T SHAFT 14TH

M21-SHP SHOE PLATE

M21-VLP-M VALVE PLATE MOTOR

M21-VLP-L VALVE PLATE LH

M21-VLP-R VALVE PLATE RH

M22-SFT-21T S/D22/SPV22 9220417 (21 TEETH)

M22-SFT-19T 9220515 (19 TEETH)

M22-SFT-14T 9220944 (14 TEETH)

M22-BLG BALL GUIDE

M22-BRP-H/P-BRASS BEARING PLATE HIGH PRESURE (BRASS)

M22-BRP BEARING PLATE(NEW)

M22-BRP-H/P-OLD BEARING PLATE(OLD) HIGH PRESURE

M22-SPR CLY. BLOCK SPRING

M22-CYB CYLINDER BLOCK

M22-MCS MECHANICAL SEAL

M22-PCS PISTON SHOE

M22-PTS PISTON SHOE SET(9PCS/SET)

M22-STP SET PLATE

M22-SHP SHOE PLATE

M22-VLP-L VALVE PLATE LH

M22-VLP-M VALVE PLATE (MOTOR)

M22-VLP-R VALVE PLATE RH

M23-SFT-19T S/D23/SPV23 SHAFT 9230194 (19 TEETH)

M23-SFT-14T SHAFT 9230476 (14 TEETH)

M23-BLG BALL GUIDE

M23-BRP BEARING PLATE

M23-BRP-H/P-OLD BEARING PLATE HIGH PRESURE

M23-BRP-H/P-BRASS BEARING PLATE HIGH PRESURE (BRASS)

M23-SPR BLOCK SPRING

M23-CYB CYLINDER BLOCK

M23-MCS MECHANICAL SEAL

M23-PTS PISTON SHOE SET(9PCS/SET)

M23-STP SET PLATE

M23-SFT-23T SHAFT   9230469 (23 TEETH)



M23-SFT-21T SHAFT (21 TEETH)

M23-SHP SHOE PLATE

M23-VLP-L VALVE PLATE LH

M23-VLP-M VALVE PLATE (MOTOR)

M23-VLP-R VALVE PLATE RH

M24-BLG S/D24/SPV24 BALL GUIDE

M24-BRP BEARING PLATE

M24-BRP-O BEARING PLATE OLD

M24-CYB CYLINDER BLOCK

M24-PTS PISTON SHOE SET(9PCS/SET)

M24-STP SET PLATE

M24-SHP SHOE PLATE

M24-VLP-M VALVE PLATE (MOTOR)

M24-VLP-L VALVE PLATE LH

M24-VLP-R VALVE PLATE RH

M25-BLG S/D25/SPV25 BALL GUIDE

M25-BRP BEARING PLATE

M25-BRP-O BEARING PLATE OLD

M25-PTS PISTON SHOE SET(9PCS/SET)

M25-STP SET PLATE

M25-SHP SHOE PLATE

M25-VLP-M VALVE PLATE (MOTOR)

M25-VLP-L VALVE PLATE LH

M25-VLP-R VALVE PLATE RH

M25-CYB CYLINDER BLOCK

M26-BLG S/D26/SPV26 BALL GUIDE

M26-BRP BEARING PLATE

M26-BRP-O BEARING PLATE OLD

M26-PTS PISTON SHOE SET(9PCS/SET)

M26-STP SET PLATE

M26-SHP SHOE PLATE

M26-VLP-M VALVE PLATE (MOTOR)

M26-VLP-L VALVE PLATE LH

M26-VLP-R VALVE PLATE RH

M26-CYB CYLINDER BLOCK

M27-BLG BALL GUIDE

M27-BRP BEARING PLATE

M27-BRP-OLD BEARING PLATE OLD

M27-PTS PISTON SHOE SET(9PCS/SET)



M27-STP SET PLATE

M27-SHP SHOE PLATE

M27-VLP-L VALVE PLATE LH

M27-VLP-M VALVE PLATE MOTOR

M27-VLP-R VALVE PLATE RH NEW(12.9T)

M27-VLP-R VALVE PLATE RH OLD(12.8T)

M27-CYB CYLINDER BLOCK

UH07-5-RVL RELIEF VALVE (SMALL)

UH10-M/P-VLP VALVE PLATE

V38-CYB CYLINDER BLOCK

V38-STB-A SET PLATE & BALL GUIDE

V38-VLP-L VALVE PLATE (BI-METAL) LH

V38-VLP-R VALVE PLATE (BI-METAL) RH

V38-SHP SHOE PLATE

VKS-TA1919-BLG BALL GUIDE

VKS-TA1919-CYB CYLINDER BLOCK

VKS-TA1919-GRIP GRIP

VKS-TA1919-PTS PISTON SHOE SET(9PCS/SET)

VKS-TA1919-PIN PUSH ROD(3PCS/SET)

VKS-TA1919-STP SET PLATE

VKS-TA1919-STB-A SET PLATE & BALL GUIDE

VKS-TA1919-VLP-L VALVE PLATE LH

VKS-TA1919-VLP-R VALVE PLATE RH

VRD63-BLG BALL GUIDE

VRD63-SPR BLOCK SPRING

VRD63-WSH WASHER

VRD63-PRD PUSH ROD

VRD63-CBA-L CYL.BLOCK & W/V PLATE LH

VRD63-CBA-R CYL.BLOCK & W/V PLATE RH

VRD63-PTS PISTON SHOE SET(9PCS/SET)

VRD63-STP SET PLATE

VRD63-STB-A SET PLATE & BALL GUIDE

VRD63-SWP SWASH PLATE

VRD63-VLP-L VALVE PLATE LH

VRD63-VLP-R VALVE PLATE RH


